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The original jurisdiction of the Supreme 2. 
Court extends to a dispute arising out of 
any pre-Constitution treaty.

Which of the above statements is/are correct?
1 only(a) 

2 only(b) 

Both 1 and 2(c) 

Neither 1 nor 2(d) 

With reference to judicial accountability, 14. 
consider the following statements:

Supreme Court’s ability to examine its 1. 
own judgement order is based on the 
“procedure established by law”.
Impeachment process can be one of the 2. 
mechanisms for judicial accountability.
Accountability of the judiciary in respect 3. 
of its judicial functions and orders is 
vouchsafed by provisions for appeal, 
reversion and review of orders.

Which of the above statement is/are correct?
1 and 3 only(a) 

1 and 2 only(b) 

2 and 3 only(c) 

1, 2 and 3(d) 

With reference to the Writs of Supreme Court 15. 
and High Courts, consider the following 
statements:

Under the Writ of Prohibition, a lower 1. 
court is asked to stop dealing with the 
case altogether.
The Writ of Certiorari will be issued to 2. 
nullify a decision taken by a judicial body 
when acted beyond its jurisdiction.

Which of the statements given above is/are 
correct?

1 only(a) 

2 only(b) 

Both 1 and 2(c) 

Neither 1 nor 2(d) 

Consider the following statement:16. 
The High Courts’ jurisdiction, powers, 1. 
and other administrative affairs 
are comprehensively defi ned in the 
Constitution.
Bombay High court’s jurisdiction extends 2. 
to Dadra, Diu and Daman.

Which of the above statement is/are 
incorrect?

1 only(a) 

2 only(b) 

Both 1 and 2(c) 

Neither 1 nor 2(d) 

Consider the following statements:  17. 
High Court has the power of 1. 
superintendence over all Courts and 
Tribunals including armed forces 
functioning in the State. 
High Court’s Power of Superintendence 2. 
is only judicial in nature.
Supreme Court has no such power of 3. 
superintendence vis-a-vis the High 
Court.

Which of the following statement is /are 
correct?

1 and 3 only(a) 

3 only(b) 

1 and 2 only(c) 

2 and 3 only(d) 

Consider the following statements:18. 
Lower judiciary have a uniform structure 1. 
though out India as mandated by the 
Constitution.
Munsif court on civil side and magistrate 2. 
court on criminal side is lowest level of 
subordinate judiciary in India.

Which of the above statements is/are correct?

1 only(a) 

2 only(b) 

Both 1 and 2(c) 

Neither 1 nor 2(d) 

Consider the following statements regarding 19. 
National Tribunal Commission (NTC):

Supreme Court has directed central 1. 
government to constitute NTC to ensure 
autonomy of tribunals.
NTC will oversee recruitment, operations 2. 
and infrastructure needs of tribunals all 
over country.
NTC is necessary to ensure separation of 3. 
power regarding tribunals.


